aee

1570y REN L=42 20

25 X#a vy y—b L=33 0n

S70v o RER

=8 |om

ZHavs U=+t L9 6n
ERavsU—+t L=10.3n

1SRRIV U—F L=4T.3m
BT (N4 0n) 1=36.9n

" Znpg,

1BEET L5 In

BEHBT §=61. 1n(AJ99n2)

BT (HA
=8 1n

BEHBT L]

1570y REN hOET

1=28. 20 1=0.3n

1BXHEavH Y=+ L=2].In
SEEIVH - L=28. 60

EHRABE L=27 9n

AN
AR

E3m

HEES

METHEERL=39. Im

HESER-ER

e
Al

it ]

MR B X EEARE Y EEAR(E Z EiRE

22-101-3 115039. 023 31260. 988

22-101-2 115017. 658 31262. 684 87.168

ST-1 115035. 921 31237. 859 87.425

sT-2 115037. 679 31213.524 84.081

ST-3 115082. 163 31236. 544 84,899

sT-4 115119.020 31255. 527 84.935

22-117-5 115117483 31141.573

22-117-1 115075. 928 31185. 005
HEARIBERERER—ER

1 3

[ TR | i1y 0 = TP |
[ 3020 | T T T T 30655 | Tio000 308
[ 30es0 | 77es | iwow | jeww [ iem [ wi 50515 | 115069. 666
[ T T T T T Tz 90

I % & |R2Z% MESN = hEMR RREEIE
BHRES |(HEAN

IHRER | ZHhh |

& % |FHEFER

R $=1:500 [@ﬁﬁ% [ 1/
&%

FREE

EEREDLERERRLBME (S5



FETEERL=39. Im

EHREE L=2] 00 mBHAD bEhAEE L=4] 8n
187Rv Y RER (L& - TR) L=10.32
95 000 2870y 7 RER L=1. 950
BOi® L=0. 30
28000 8080 142620 5200
90.000
] v85. 105
(BBBER)
o
85.000 B i 19
] v85.064

(HW.L)

v82.853 /

wrD - — v83.303
)

80.000

[N

BRARS

o
T.P. =70. 000
) 5] =
3 * =
L) T s
HoE A S s = Z Z 3z e
- g g B § § § £ g B8
BRRARS 3 g = g 8 S B2 ®
= == = == =
B & 3 s =3 s = = == =5
N » g g 8 g8 &8 g 8 g8 2
B B R s EE S8 ¢ 8 8 g8 g4
W oE o g iz B E : i 2
2
Fl A - - - - s - e ois
e 8 2 s 2 E 272 I % & |R2Zt BEAIN
— -
H " PR BEES |mEAN
=%
IREF |SHmEENME

BE % |#NER

#® R $=1:500

E3

# &

FREE BBRENLEREBRLBMWD (Z57)




BEHE

o3

6009 1003

BEEM

bnAHER

ERZERE
ack18N/nm2
R
—

ST HEE K (EEE AL

H B C
B8 Eiwauzwcm);

RC-40 \

_Et
HEBAL (Ag) B

<h1<5050
5300 <H<5600

BE-EEER | ]
(Ss:Msalt)

HHBEL (Ag)

510502590 4720

BARE (t=50cn)
RC-40

WE - REERE
(Ss+Ms alt)

5on

YoU—b(—HET)
ERZERE
ook 18N/mm2

R=354vavyy—+t
:

I % & |R2Z: BESN = 0EME REEFIF

BHRES |(HEAN

IFER (SHhhmNE

B & |HENEE

#® R $=1:100 [Eﬁ%% [ 3/ 10

FREE RBERENLEREBRLBMWD (Z57)




AHBEL (Ag) g[T
BE-REER 2
(Ss+Msalt) ™

T.P.=75.000

NO.3
o137
84,960
e 0.3
& # B &
H 1.0<8 -
|m x[2558<8 0] -—
1012 St H (X8 21
u B 110
6009 1003 & BB Y
H ) ]
4 £|t B[] —-
EEEY
1530 50 2150 VS E ]
EN) --
4 el [
i 4 0= --
I|® E[Loswi<ao --
[ V84,060 N_L=84 <o —
H =ty BT AEBKE (Bem A L) 7
HEMEL (Ag)
T WE - REERE h
WE - REERE ~ (Ss+ Ms alt) & REERE
(Ss-Msalt) g S =l BE-REER (Ss-Ms alt) HHEBELT (Ae)
H ] g v
SIS (Ss- Ms alt)
WE - REERE
(Ss+ Ms alt)
T.P.=75. 000
NO.4
& # B g
1,08 -
M4 # +[256<B<40] --—
JEETEE a B<2.5 [
a5 00 I
JEEE t Bl 105
1]
H ' WA " E 8
. B |t B| --
EE R W EEIEE) —
EN) —-
R E 1.0
0 —
7025 =gFE 105 < -

2650

v85.003

84.988n B

BE#E AL /
— T 1

~

N (Ag) -~

BE-REER
(Ss+ Ms alt)

BE-REER
(Ss*Msalt) oo
WE - REERE
(Ss-Ms alt)

I % & |R2Z: BEAN Z-BENR REERIF

BHRES |(HEAN

IFER (SHhhmNE

& & | W (1)
#® R $=1:100 [Eﬁ%% [ 4 /10
&%

FREE RBERENLEREBRLBMWD (Z57)



=1:100
EP
Z % B B
EP. 4.0<8B
H=85.105 % t[2558<4.0
g5 105 ﬂ B<2.5
i
Ea)
t W[k oo
HER LRI
} [EIER)
[P—
rEER =
) -
1025 =l 1023 b4 ol 0.9
+ 4.0=W1 -
0, 2650 | E[1L.0sSWI<4 0 -
Wi<ti. o -

V85, 105 85.064m & WL
=f S = W T
__ emEE: () gF cE /’]
- BE EEER HEBEL (he)

Be REEER o 2o
(S5 Ms alt) ™ Vf —

1560

(Ss - Ms alt)

B REER
< hg) -~ (Ss - Ms alt)

WE - REERE
(Ss+ Ms alt)

T.P.=75.000

EiE 1]

I % & |R2Zt BESN

BHRES |(HEAN

IFER (SHhhmNE

& & | (2)
#® R $=1:100 [Eﬁ%% [ 5 /10
&%

FREE RBERENLEREBRLBMWD (Z57)



-3
B &
trndER
500
tEhREE 1.0m%yY
& it i B3t
g avou-b ook 18N/mn2 n3 | 1/2x (500+8) xH+1/2x 150500
ki REREY m2 | SL1+5L2+500
EARE RC-40, t=50cn nd | 1/2x (SL3+5L2) x 500
RHI HEER #n2 | sL1
HERE # w2 | B
K-51v3v00- #%. t=5om n2 | sS4
auyy—h - BRaVI Y- ook 18N/mn2 nd | 1/2xWxn2
ockZ18N/nn2 &
/‘/ HEX
& WA Hnn) [ h1(an) | h2(mm) | h3(mm) [ h4(mm) [ h5 (mm) | SLT (mm)| SL2 (mm)| SL3 (mm)| SL4 (nm)| B (nm) | W(nm)
N _ N0 1+16.08 [ o0 —5e5e——850 | 4000 | 4110 990 |_4204— 6 TU37_| 1620 440
= oy 0.2 | 5646——5050—| 550 | 4000 | 4110 990 | 5646 | A7TT—#HH——H034 | 1620 440
e N0.2+4.71 5600 | 5050 550 | 4000 | 4110 990 | 5646 | 4291 | 4176 | 1034 | 1620 440
= EC.1(N0.2+12.955) | 5600 | 5040 560 | 3990 | 4100 | 1000 | 5635 | 4280 | 4166 | 1044 | 1620 450
0.3 5500 | 4910 590 | 3850 | 3970 | 1030 | 5489 | 4145 | 4019 | 1075 | 1600 470
N0.3+18. 46 5300 | 4720 580 | 3670 | 3790 | 1010 | 5277 | 3957 | 3831 [ 1054 | 1560 460
0.4 5300 | 4720 580 | 3670 | 3790 | 1010 | 5277 | 3057 | 3831 | 1054 | 1560 460
EP(NO. 443, 663) 5300 | 4790 510 | 3750 | 3870 930 | 5355 | 4040 | 3915 971 | 1560 410
! EE
3voY—t(@3) Bix(n2) RHI (#n2) EARE (n3) EEEE(M2)  K-54v329)-m2) BREIVH Y-+ (n3)
No [ sy t——oaa | 5.65 212 | e T.03 | 0.121
L NO. 2 1047 | 5.65 212 | T r———01 | 0121
2 ‘% — N0.2+4.71 5.974 10.44 5.65 212 6 1.03 0.121
é o W EC. 1(NO.2+12.955) 5.974 10.42 5.64 211 6 1.04 0.126
= 0.3 5.813 10.13 5.49 2.04 6 1.08 0.139
\Z/ N0.3+18. 46 5,497 9.73 5.28 1.95 16 1.08 0.133
BoHx0. 20500 ‘ffj}ji‘i’“’“m’ 0.4 5,497 9.73 5.28 1.95 16 1.08 0.133
ok 180 /an2 EP(NO. 443, 663) 5.497 9.90 5.36 1.99 6 0.97 0.105
il
avy Y- tE%E
avyY-bEE BSEBHEH
BIESM D6 SD295
50 %150 £ B a5y h(t=200) FATI7LLGE
ook 18N /nn2 LAIThTEE
\& /
g 2B BEERETAIY(:5m)
S| U =
A\ = -

B8
RC-40

BERE (t=20cm)

B &

BEYTyYr-5 Y (t=10cn

I%4

R2=% WMESN BiE REEETE
BHRES |(HEAN
IFER (SHhhmNE
& & |HER
£ R BF [Eﬁﬁ% [ 6 /10
&%
FREE RBERENLEREBRLBMWD (Z57)



REEAOH b ABE L=4]. 82
1E20FHER 47820
TbEhAEREARTOEM 47580
3920 4710 8240 7050 18460 1540 3660
1150, &l
V84,960 suE duoins) v84.960 v85. 003 V85,105 brEhAENERREGE
Bl&hT)
V84 610 i
A m B.H W L=84 96(T.P.) B H W.L=84 96(T.P )
d 2 < 2 g & ElE= 3 =
BN i g £ B =
Y SHEVE3. 3120
A _vie.910
(WhEE)
4030 4840 8470 7050 18460 1540 3660
25 hABRERTOEMS 48050
X E3) EIRIERENRZERMIC THERE.
BRAREERELEIT 5%,
T.P.=70.000

I %4 |R2=f BESN = bEME HSRENIE

BHRES |(HEAN

IFER (SHhhmNE

B & & |t-hABRRHAR
e R 8=1:100 [Eﬁﬁ% [ /10
&%

FREE RBERENLEREBRLBMWD (Z57)




HEERIFMKX

§=1:100

NO. 5+8. fzo

(ﬁ‘),;j;t@%#

N0.0-0.12

EifsRET X E
SEEEI L=61.11n A=98.70n2

L
B BEEHET7 A3V (t=5cm) 7 1 I ¥ & |Ro=t BEGN Z-EENR HEEEIH
BOE BEITUYo-F Y (t=10cm) / anze lozan

IFEFR |SHmRENE

B & |MEEBIHED

e R 8=1:100 [Eﬁf% [ 8 /10

&%

FREE RBERENLEREBRLBMWD (Z57)




KKK
X

%
G

——

18.07

5:0.9.9.9:9.9:1) . 9.0

:‘»

2
— =TT
=
i
I
<5
&
S

]
211-28

e111-2A

i
74

00

@2711-3A

© 7344F00
T-1

87. 425

IZRER (8472)

s=1:50

3000

I ¥ & S=1/250

TEAER W=3. 0m)

{RBM2 H=85. 134

e
Al

I % & |R2=+ @A) =-bENR HFEIRTS
BHRES |(HEAN

IHRER | ZHhh |

B & |REIFER

e R B [Eﬁﬁ% [ 9 10
&%

FREE RBERENLEREBRLBMWD (Z57)



fr 5% T3 % b X

=1:100

.3
64 737

1012 =4FiE

T = LAEL TR0 S

HEBEL (Ag)

BE-REER

(Ss+ Ms alt)
300

B EEEE

WE - REERE

(85 Ms alt) e REER (S5 Ms alt) ,,,,qu%,&,%i,g‘,gl ,,,,,,,
=~ N AN _ (Ss+ Ms alt) b 5;7% E] % B
T N ® 1058 —-
Joood - - BE - REERE B|l@ t[25s8<4 0] 37
(Ss+Ms alt) z B2 5 - -
T.P.=75.000

I ¥ A& |R2Zt BESN Z-REME HRENTS

BREE |WEAN

IFER |SHhaBTHE

B |RRIREHNE
® R 8=1:100 [Eﬁf% [ 10 /10
2 # 42

FREL EBREDLERERDRLEMS (=47



